The Only Way To Convert From One Substance To Another Is Through The Mole Ratio Of A Balanced Chemical Equation!
Given:  mol of A
Unknown:  mol of B

	1 STEP




mol A x 
mol B   =              mol B



mol A

(mole ratio)
Example:
If 5 moles of hydrochloric acid react with 3 moles of zinc metal, how many moles of hydrogen gas will be produced?

Given:  mol of A
Unknown:  g of B

	2 STEPS




mol A x 
mol B   x 
    g B   =              g B



mol A
1 mol B

(mole ratio)
(molar mass)
Example:
If 5 moles of hydrochloric acid react with 3 moles of zinc metal, how many grams of hydrogen gas will be produced?

Given:  g of A
Unknown:  mol of B

	2 STEPS




g A x 
1 mol A   x 
mol B   =              mol B


       g A
mol A

(molar mass)
(mole ratio)
Example:
If 5 g of hydrochloric acid react with 3 g of zinc metal, how many moles of hydrogen gas will be produced?

Given:  g of A
Unknown:  g of B

	3 STEPS




g A x 
1 mol A   x 
mol B   x 
       g B   =              g B


       g A
mol A 

1 mol B

(molar mass)
(mole ratio)
(molar mass)
Example:
If 5 g of hydrochloric acid react with 3 g of zinc metal, how many g of hydrogen gas will be produced?
